

**ITB 2019-020
REFUSE REMOVAL**

BID COMPARISON												
ITEM #	LOCATION	CONTAINER SIZE	NUMBER OF PICKUPS PER WEEK	NUMBER OF MONTHS	BIDDER							
					Goode Companies, Inc.		Waste Management		Amber's Disposal		BFI Waste Services	
					MONTHLY CHARGE	ANNUAL TOTAL						
1	Northeast Community Center	6	2	12	\$185.46	\$2,225.52	\$256.50	\$3,078.00	\$260.00	\$3,120.00	\$257.74	\$3,092.88
2	North Beach Senior Center	6	2	12	\$185.46	\$2,225.52	\$256.50	\$3,078.00	\$260.00	\$3,120.00	\$257.74	\$3,092.88
3	Fairview Library/Community Center	4	1	12	\$75.48	\$905.76	\$103.85	\$1,246.20	\$100.00	\$1,200.00	\$106.08	\$1,272.96
4	Health Service Center	8	2	12	\$220.96	\$2,651.52	\$308.65	\$3,703.80	\$290.00	\$3,480.00	\$371.37	\$4,456.44
5	Calvert Pines Senior Center	6	2	12	\$185.46	\$2,225.52	\$256.50	\$3,078.00	\$300.00	\$3,600.00	\$305.51	\$3,666.12
6	Safe Harbor Abused Person's Shelter	4	1	12	\$75.48	\$905.76	\$103.85	\$1,246.20	\$100.00	\$1,200.00	\$121.99	\$1,463.88
7	Courthouse	8	3	12	\$330.95	\$3,971.40	\$459.10	\$5,509.20	\$420.00	\$5,040.00	\$552.09	\$6,625.08
8	Courthouse Annex	6	1	12	\$93.23	\$1,118.76	\$131.80	\$1,581.60	\$145.00	\$1,740.00	\$157.11	\$1,885.32
9	County Services Plaza	6	2	12	\$185.46	\$2,225.52	\$256.50	\$3,078.00	\$260.00	\$3,120.00	\$305.51	\$3,666.12
10	Community Resources Building	4	1	12	\$75.48	\$905.76	\$103.85	\$1,246.20	\$100.00	\$1,200.00	\$121.99	\$1,463.88
11	Calvert House	6	2	12	\$185.46	\$2,225.52	\$256.50	\$3,078.00	\$260.00	\$3,120.00	\$305.51	\$3,666.12
12	Substance Abuse Facility	4	1	12	\$75.48	\$905.76	\$103.85	\$1,246.20	\$100.00	\$1,200.00	\$121.99	\$1,463.88
13	Southern Community Center	6	2	12	\$185.46	\$2,225.52	\$256.50	\$3,078.00	\$260.00	\$3,120.00	\$305.51	\$3,666.12
14	Solomons Boat Ramp											
	Two boxes March 1 - Nov. 30	8	2	9	\$465.57	\$4,190.13	\$308.65	\$2,777.85	\$290.00	\$2,610.00	\$700.21	\$6,301.89
	Two boxes Dec. 1 - Feb. 28 (29)	8	1	3	\$223.96	\$671.88	\$158.15	\$474.45	\$160.00	\$480.00	\$360.03	\$1,080.09
15	Solomons Parking Lot	8	1	12	\$110.98	\$1,331.76	\$158.15	\$1,897.80	\$160.00	\$1,920.00	\$190.65	\$2,287.80
16	Courthouse Square	6	1	12	\$93.23	\$1,118.76	\$131.80	\$1,581.60	\$145.00	\$1,740.00	\$157.11	\$1,885.32
17	Mt. Hope Community Center	6	1	12	\$93.23	\$1,118.76	\$131.80	\$1,581.60	\$145.00	\$1,740.00	\$133.23	\$1,598.76
18	Waterman's Wharf	4	1	12	\$75.48	\$905.76	\$103.85	\$1,246.20	\$100.00	\$1,200.00	\$121.99	\$1,463.88
19	Prince Frederick Library	4	2	12	\$149.95	\$1,799.40	\$202.85	\$2,434.20	\$180.00	\$2,160.00	\$237.61	\$2,851.32
20	Island Creek School	4	1	12	\$75.48	\$905.76	\$103.85	\$1,246.20	\$100.00	\$1,200.00	\$121.99	\$1,463.88
21	Calvert County Storage Facility	4	1	12	\$75.48	\$905.76	\$103.85	\$1,246.20	\$100.00	\$1,200.00	\$121.99	\$1,463.88
22	Calvert Library, Southern Branch	4	1	12	\$75.48	\$905.76	\$103.85	\$1,246.20	\$100.00	\$1,200.00	\$121.99	\$1,463.88
23	Annamarie Sculture & Arts Center	4	1	12	\$75.48	\$905.76	\$103.85	\$1,246.20	\$100.00	\$1,200.00	\$121.99	\$1,463.88
24	Harriet Elizabeth Brown Center	4	2	12	\$149.95	\$1,799.40	\$202.85	\$2,434.20	\$180.00	\$2,160.00	\$237.61	\$2,851.32
Subtotal A. Buildings & Grounds						\$41,276.73		\$53,660.10		\$53,070.00		\$65,657.58

REFUSE REMOVAL

25	Detention Center	8	3	12	\$330.95	\$3,971.40	\$459.10	\$5,509.20	\$450.00	\$5,400.00	\$552.09	\$6,625.08
		6	3	12	\$277.69	\$3,332.28	\$381.15	\$4,573.80	\$390.00	\$4,680.00	\$453.91	\$5,446.92
26	DWI/Treatment Facility	8	1	12	\$110.98	\$1,331.76	\$158.15	\$1,897.80	\$160.00	\$1,920.00	\$190.65	\$2,287.80
Subtotal B. Detention Center						\$8,635.44		\$11,980.80		\$12,000.00		\$14,359.80
27	North Beach Volunteer Fire Department	8	1	12	\$110.98	\$1,331.76	\$158.15	\$1,897.80	\$160.00	\$1,920.00	\$158.80	\$1,905.60
28	Prince Frederick Volunteer Fire Department	8	1	12	\$110.98	\$1,331.76	\$158.15	\$1,897.80	\$160.00	\$1,920.00	\$190.65	\$2,287.80
29	Solomons Rescue Squad and Fire Department Substation	6	1	12	\$93.23	\$1,118.76	\$131.80	\$1,581.60	\$145.00	\$1,740.00	\$157.11	\$1,885.32
30	Prince Frederick Volunteer Rescue Squad No. 4	8	1	12	\$110.98	\$1,331.76	\$158.15	\$1,897.80	\$160.00	\$1,920.00	\$190.65	\$2,287.80
31	Dunkirk volunteer Fire Department Company No. 5	8	1	12	\$110.98	\$1,331.76	\$158.15	\$1,897.80	\$160.00	\$1,920.00	\$158.80	\$1,905.60
32	Huntingtown Volunteer Fire Department Company No. 6	8	1	12	\$110.98	\$1,331.76	\$158.15	\$1,897.80	\$160.00	\$1,920.00	\$158.80	\$1,905.60
33	Calvert Advanced Life Support	6	1	12	\$93.23	\$1,118.76	\$131.80	\$1,581.60	\$145.00	\$1,740.00	\$157.11	\$1,885.32
Subtotal C. Fire/Rescue/EMS						\$8,896.32		\$12,652.20		\$13,080.00		\$14,063.04
34	Calvert Marine Museum	8	3	12	\$330.95	\$3,971.40	\$459.10	\$5,509.20	\$450.00	\$5,400.00	\$552.09	\$6,625.08
35	Cove Point Lighthouse	2	1	12	\$57.72	\$692.64	\$77.15	\$925.80	\$75.00	\$900.00	\$86.41	\$1,036.92
Subtotal D. Marine Museum						\$4,664.04		\$6,435.00		\$6,300.00		\$7,662.00
36	Cypress Swamp Nature Center	4	1	12	\$75.48	\$905.76	\$103.85	\$1,246.20	\$100.00	\$1,200.00	\$121.99	\$1,463.88
37	Kings Landing Park Box by Wisner Hall	6	1	12	\$93.23	\$1,118.76	\$131.80	\$1,581.60	\$145.00	\$1,740.00	\$133.23	\$1,598.76
38	Flag Ponds Nature Park											
	Weekly May 1 through Sept. 30	6	1	5	\$93.23	\$466.15	\$131.80	\$659.00	\$145.00	\$725.00	\$157.11	\$785.55
	Twice Per Month Oct., Nov., March and April	6	2	4	\$143.52	\$574.08	\$256.50	\$1,026.00	\$100.00	\$400.00	\$82.92	\$331.68
	Monthly Dec., Jan. and Feb.	6	1	3	\$63.26	\$189.78	\$131.80	\$395.40	\$75.00	\$225.00	\$45.82	\$137.46
Subtotal E. Natural Resources Division						\$3,254.53		\$4,908.20		\$4,290.00		\$4,317.33
39	Breezy Point Camp Ground											
	One (1) box November through April 30	8	1	6	\$110.98	\$665.88	\$158.15	\$948.90	\$160.00	\$960.00	\$158.80	\$952.80
	Five (5) boxes May 1 through Oct. 31 Only Remove four (4) boxes on Nov. 1	8	2	6	\$1,325.04	\$7,950.24	\$308.65	\$1,851.90	\$1,450.00	\$8,700.00	\$1,311.00	\$7,866.00

REFUSE REMOVAL

40	Marley Run Park	8	1	9	\$110.98	\$998.82	\$158.15	\$1,423.35	\$160.00	\$1,440.00	\$158.80	\$1,429.20
41	Cove Point Pool May 1 through Sept. 30 Remove Refuse Container at the end of Sept. for Winter Season	8	2	5	\$220.96	\$1,104.80	\$308.65	\$1,543.25	\$290.00	\$1,450.00	\$371.37	\$1,856.85
42	Edward T. Hall Aquatic Center	6	1	12	\$93.23	\$1,118.76	\$131.80	\$1,581.60	\$145.00	\$1,740.00	\$157.11	\$1,885.32
43	Kings Land Park POOL AREA May 1 through Sept. 30 Only Remove at the end of Sept.	6	1	5	\$93.23	\$466.15	\$131.80	\$659.00	\$145.00	\$725.00	\$133.23	\$666.15
Subtotal F. Parks & Recreation						\$12,304.65		\$8,008.00		\$15,015.00		\$14,656.32
44	Dunkirk District Park											
	Two (2) boxes March 1 through Nov.30	8	2	9	\$493.98	\$4,445.82	\$308.65	\$2,777.85	\$580.00	\$5,220.00	\$615.37	\$5,538.33
	Two (2) boxes Dec. 1 through Feb. 28	8	1	3	\$248.99	\$746.97	\$158.15	\$474.45	\$320.00	\$960.00	\$317.61	\$952.83
45	Hallowing Point Park											
	Two (2) boxes March 1 through Nov. 30	8	2	9	\$493.98	\$4,445.82	\$308.65	\$2,777.85	\$580.00	\$5,220.00	\$742.74	\$6,684.66
	Two (2) boxes March 1 through Nov. 30	8	1	3	\$248.99	\$746.97	\$158.15	\$474.45	\$320.00	\$960.00	\$381.29	\$1,143.87
46	Cove Point Park											
	Two (2) boxes March 1 through Nov. 30	8	2	9	\$493.98	\$4,445.82	\$308.65	\$2,777.85	\$580.00	\$5,220.00	\$742.74	\$6,684.66
	Two (2) boxes December 1 through Feb. 28	8	1	3	\$248.99	\$746.97	\$158.15	\$474.45	\$320.00	\$960.00	\$381.29	\$1,143.87
Subtotal G. Parks & Recreation District Parks						\$15,578.37		\$9,756.90		\$18,540.00		\$22,148.22
47	Chesapeake Hills Golf Course											
	One (1) Box April 1 through Sept. 30	6	2	6	\$185.46	\$1,112.76	\$256.50	\$1,539.00	\$260.00	\$1,560.00	\$305.51	\$1,833.06
	One (1) Box Oct. 1 through March 31	6	1	6	\$93.23	\$559.38	\$131.80	\$790.80	\$145.00	\$870.00	\$157.11	\$942.66
Subtotal H. Golf Course						\$1,672.14		\$2,329.80		\$2,430.00		\$2,775.72
48	Prince Frederick Wastewater Treatment Plant II	4	1	12	\$96.78	\$1,161.36	\$103.85	\$1,246.20	\$150.00	\$1,800.00	\$121.99	\$1,463.88
49	Solomons Headworks 1 of 2	4	1	12	\$66.81	\$801.72	\$35.00	\$420.00	\$75.00	\$900.00	\$35.28	\$423.36
50	Solomons Headworks 2 of 2	4	2	12	\$132.62	\$1,591.44	\$55.00	\$660.00	\$100.00	\$1,200.00	\$64.18	\$770.16
Subtotal I. Water & Sewer Division						\$3,554.52		\$2,326.20		\$3,900.00		\$2,657.40
TOTAL BID BASED ON ESTIMATED QUANTITIES						\$99,836.74		\$112,057.20		\$128,625.00		\$148,297.41

ON CALL SITES						
Item #	Description	Container Size	BIDDER			
			Goode Companies	Waste Management**	Amber's Disposal	BFI Waste Services
			Price per Pick Up			
51	Breezy Point Campground	20	\$510.00		\$275.00	\$630.00
52	Northern Sewage Treatment Plant	2	\$150.00	\$85.00	\$40.00	\$23.17
53	Prince Frederick Sewage Treatment Plant	4	\$175.00	\$105.00	\$60.00	\$35.28
54	Industrial Park Wastewater Treatment Plant	4	\$175.00	\$105.00	\$60.00	\$35.28

****Vendor did not submit Addendum No. 3 which included an updated price proposal page.**

On Call Containers (20, 30 or 40 yard)						
Item #	Description	Unit of Measure	BIDDER			
			Good Companies	Waste Management	Amber's Disposal	BFI Waste Services
			Unit Price			
55	Construction Debris	Per Ton	\$150.00	\$212.50	\$85.00	\$160.00
56	Block and Rubble	Per Ton	\$150.00	\$212.50	\$45.00	\$160.00